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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Please leave ---------- directions for the housekeeper, so she knows what needs to be done.
1) authentic 2) restless 3) cursory 4) explicit

The islands ---------- their name from the sacred images found on them by the early
European navigators.

1) derive 2) Hlustrate 3) infer 4) grasp

People love the Presidio because it is in close ---------- to many area attractions, including

the famous aquarium, the SFB Morse Botanical Reserve and the Spanish Bay Resort
Golf Course.

1) relevance 2) proximity 3) accord 4) observation

This system, which for many years subsequently was regarded as authoritative, has been
subjected to ---------- criticism by later economists, and it is perhaps not too much to say
that it now possesses mainly a historical interest.

1) transient 2) feeble 3) vigorous 4) shaky

Although Norman could ---------- his sister’s story about her innocence to absolve her, he
refused to do so because he was angry at her.

1) corroborate 2) testify 3) tulfill 4) retain

When he came in to tea, silent, -===-cz--x , and with tear-stained face, everybody pretended
not to notice anything.

1) facetious 2) showy 3) mercurial 4) morose

Since color is absorbed as it travels through water, the deeper you are, the more likely
you will notice a ---------- in the clarity of reds, oranges and yellows.

1) intensification 2) deception 3) reduction 4) competition

As the students argued, the teacher tried to ---------- them into silence with the threat of a
detention.

1) impose 2) condemn 3) condense 4) coerce

Teachers who consider cartoons and comic books ---------- to students’ literacy skills
often use class time to deride these media.

1) pertinent 2) harmful 3) conducive 4) indispensable
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10- Salt is valued not only because of its ---------- as a condiment and preservative, but also
because they are essential to the health of humans and animals.
1) variances 2) properties 3) predictors 4) temptations

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Being funny has no place in the workplace and can easily wreak havoc (11) ----------
an otherwise blossoming career. Of course, laughter is necessary in life. But if you
crack jokes (12) -----—----- snide remarks at work, you will eventually not be taken
(13) ~=—mmmmem- . You will be seen as someone who wastes time (14) ---------- could better
be spent discussing a project or an issue. Additionally, many corporate-minded
individuals do not have the time to analyze comments with hidden meanings-they will
take what you say (15) ------—---- and as an accurate representation of your
professionalism in the workplace.

11- 1)on 2)in 3) at 4) for
12- 1) which they make 2)to be made 3) and make 4) then make
13- 1) by some others serious 2) serious by others
3) being seriously by others 4) seriously by others
14- 1)and 2) when 3) that 4) that it
15- 1) is absolute 2) as absolute 3) be absolute 4) that is absolute

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The biological activity of synthetic amorphous silica can be related to the particle
shape and surface characteristics interfacing with the biological milieu rather than to
particle size. The size of the primary particle resulted in the materials often being
considered as “‘nanosilica”. Colloidal synthetic amorphous silica dispersions may
contain isolated primary particles in the nano-size range which can be considered
nano-objects. Based on extensive physico-chemical, toxicology and epidemiology
data, no environmental or health risks have been associated with these materials.

With internal structures in the nanoscale size range, pyrogenic, precipitated and gel
synthetic amorphous silica are typical examples of nanostructured materials as recently
defined by the standard organizations. Synthetic amorphous silica, in the form of
pyrogenic, precipitated, colloidal or gel synthetic amorphous silica, has been used in a
wide variety of industrial and consumer applications including food, cosmetics and
pharmaceutical products for many decades.
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Synthetic amorphous silica adsorbs to cellular surfaces and can affect membrane
structures and integrity. Toxicity i1s linked to mechanisms of interactions with outer
and inner cell membranes, signaling responses, and vesicle trafficking pathways.
Interaction with membranes may induce the release of endosomal substances, reactive
oxygen species, cytokines and chemokines and thus induce inflammatory responses.
The manufacturing process of these synthetic amorphous silica materials leads to
aggregates of bonded or fused primary particles. Weak interaction forces including van
der Waals interactions, hydrogen bonding, physical adhesion, between aggregates lead
to the formation of micrometre sized agglomerates.

Which characterization of the synthetic amorphous silica has NOT effect on its biological
activity?

1) Size of the particles 2) The form or structure

3) Surface characteristics 4) Shape of the particles

As mentioned in the passage, all statements about synthetic amorphous silica are true
EXCEPT;

1) Three different applicable forms are available

2) It has been refused by standard organizations

3) It is widely used in different medications and foods

4) About its safety for health and environment there are enough data

Adsorption of synthetic amorphous silica to the cells is being done by the following cell
structure;

1) Surfaces of the cells 2) Inside the cytoplasm

3) Nuclear surfaces 4) Internal organelles

Due to interactions with membranes, inflammation could result in release of the following
items EXCEPT;

1) Signaling responses 2) Endosomal substances

3) Reactive oxygen species 4) Chemokines and cytokines

From the following interactions which one is NOT included between aggregates of
synthetic amorphous silica materials?

1) Hydrogen bonding 2) Physical adhesion
3) Chemomolecular bonding 4) van der Waals interactions
PASSAGE 2:

An immunological investigation on assessment of chromatin immunoprecipitation
sequencing, chromatin remodeling and gene expression by RNA-sequencing, and
assay for transposase-accessible chromatin sequencing for evaluating the effects of
pretreatment with tumor necrosis factor on lipopolysaccharide—stimulated human
macrophages showed that tumor necrosis factor pretreatment of macrophages could
alter the gene expression responses, which were categorized into six groups. Also
Tumor necrosis factor induced “cross-tolerance” of nuclear factor-induced and
inflammatory groups, although the type I interferons group was non tolerized, whereas
Lipopolysaccharides and tumor necrosis factor synergized to induce the small
molecule-lipid-metabolic group.

Tumor necrosis factor antagonizes the effects of type I interferons in systemic lupus
erythematosus and promotes inflammation in rheumatoid arthritis and Crohn’s disease.
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Type I interferons prime chromatin to facilitate vigorous transcriptional responses to
weak stimulation and prevent tumor necrosis factor cross-tolerance. Research elucidate
cytokine-mediated mechanisms that integrate with TLR4 signaling to alter the
epigenome and result in the functional reprogramming of macrophage inflammatory
gene expression.

It has been shown that exposure to cytokines has a broad impact on immune
responses to infections and autoimmune diseases and influence macrophage
inflammatory responses. Type I interferons enhance antiviral activity and systemic
lupus erythematosus disease activity, whereas type I interferons ameliorate multiple
sclerosis.

Which item could be best concluded from pretreatment of macrophages with tumor
necrosis factor?

1) Sequencing of RNA

2) Precipitation of chromatins

3) Alteration of chromatin remodeling

4) Changes in responses of gene expression

Which option could be involved in induction of the small molecule-lipid-metaholic group?
1) Toleration of inflammatory groups

2) Intolerance of type 1 interferons group

3) Tolerance induction of type I interferons group

4) Cooperation of tumor necrosis factor with Lipopolysaccharides

All of the following statements are compatible with the passage EXCEPT;

1) Macrophage gene expression occurs followed by epigenome changing

2) Inhibition of tumor necrosis factor cross-tolerance is induced by type I interterons
3) Transcriptional responses are mediated by Tumor necrosis factor cross-tolerance
4) Chromatin motivation by type I interferons leads to respond to weak stimulation
All of the following statements for tumor necrosis factor are correct EXCEPT;

1) It could be involved in rheumatoid arthritis inflammation

2) The factor promotes the activity of lupus erythematosus

3) It has a reducing effect on lupus erythematosus

4) Causes more inflammation in Crohn’s disease

Which of the following phrases about the effects of type I interferons is True.?

1) Improving multiple sclerosis and inducing more activity of lupus erythematosus disease
2) Reduction in activity of lupus erythematosus and improving multiple sclerosis

3) Reducing antiviral activity and induction of malignity of multiple sclerosis

4) Elevation of antiviral activity and raising the severity of multiple sclerosis

PASSAGE 3:

Free radicals are generated during normal cellular metabolism owing to leakage from
the electron transport chain in mitochondria and leakage from peroxidation of
polyunsaturated fatty acids in the pathway of conversion of arachidonic acid to
prostaglandins and related compounds. Also superoxide plays an essential role in the
extracellular killing of microorganisms by activated phagocytes, and activation of this
system can lead to further leakage. Antioxidants are highly reactive molecules
containing one or more unpaired electrons and can exist independently such as
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superoxide and hydroxyl. So they are required to protect the animal’s cells from
damage due to the presence of free radicals. Their high reactivity is a result of their
trying to lose or gain an electron to achieve stability.

Within cells hydrogen peroxide can easily break down, especially in the presence of
transition ions, to produce the hydroxyl radical, which is the most reactive and
damaging of some free radicals. All classes of biological molecules are vulnerable to
free radical damage, but especially lipids, proteins and DNA.

The initial line of defense is by the enzymes superoxide dismutase, containing
copper, glutathione peroxidases, containing selenium and catalase. Also the
surrounding wall of the cells is an important target, because of the enzyme systems
contained within them. As mentioned to maintain cell integrity the animal’s cells
require protection mechanisms and these are provided by the antioxidant system,
which involves a group of vitamins and enzymes containing trace elements working in
series.

All of the following may be used for production of free radicals during normal cellular
metabolism EXCEPT---------- .

1) By peroxidation of saturated fatty acids

2) Through conversion of arachidonic acid

3) Via peroxidation of polyunsaturated fatty acids

4) By mitochondria during transportation of electrons

As stated in the text, which element proceeds through activation of phagocytes?

1) Peroxyl 2) Hydroxyl 3) Peroxide 4) Superoxide
Induction of hydroxyl radical mediated by transition ions, is resulted from----------
1) reactive molecules 2) hydrogen peroxide

3) hydroperoxides 4) superoxide

Which enzyme is NOT considered as the first route for cell defensive mechanism?
1) Catalase 2) Hydroperoxides

3) Superoxide dismutase 4) Glutathione peroxidase

Which of the following organelles are susceptible to free radical damage?

1) Mitochondria 2) Golgi apparatus

3) Cell membranes 4) Endoplasmic reticulum
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